[ normalized x? probability |

0.035

0.03]

i . | std pev

: [Entries
_ | mean
Std Dev

“H|'|I ”\IIH \Ilm ’ilwm |

Wﬂ"‘.ﬂ

0 2 4 6 6101214 1618 20 0 0.10.203040506070.80.9 1
Prob(x?)

= DQM_V0001_R000000001__¢ G\obal_man baseline
e DQM_V0001_R000000001__Global__mkFit_var

s DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
s DQM_V0001_R000000001__Global__mkFit_jcoreSHits

N F
s F
< 1.8
Ny E
< 1.6F
v E
H
0.4]
o
T
x
A A 2.5_
bS] 5 [
c c L
o % 2F
\" \" :
2F 15[
X :— 1_—
0.4F o.5f
o O e ,OF
© T
o o1k
£




	Contents
	Page 1


